CNALTRE SRA7 44 11 B )

Al FRAE — s e A AL

1 AfLE= % Hl1s2 & ANFLBATHE BEETEIETE fEn JIER
2 AFLHIKf TWRK264E12 4 19 H T AFLBfREE  BMHE HP i
3 k4 R 2 74 FEE 1 1 T ] R AR O (R i B2 M ONS AU R 2 B 6 = — EIRIIZE %5

T EMkE
(TR ) 2,220,300
S G H1 R At A o
(BBt )
¥ E 4 51 [\ AKL o E AKL R
SR EIR 1,661,400 M RIE
PINKRZY) oA N B T S T 1,997,040 M

KA 1,794,312 H ({HEBLIAHA)




CNALTRE SRA7 44 11 B )

Al FRAE — s e A AL

1 AfLE= A IR IE=E ANFLBATHE EEETEIETE fEn JIER
2 AFfLHEKF TWRK264E12 4 19 H #d T AFLBfREE  BMHBE HP i
3k 4 fifi#& FIFBHE A

E I 5 1E AL GIIEN) R
(R TR S8 pE 3 1,625,800 M RTE
h—2 L2 )7 SPI 1,712,840 M
RS PE S (R 4 W 39T 1,737,000
O D A R 2 1,850,000
UELPE SRR ST 1,710,000 M

KA 1,755,864 F (FHEBLIAA)




CNALTRE SRA7 44 11 B )

Al FRAE — s e A AL

1 AfLE= % Hl1s4 = ANFLBATHE EEETEIETE fEn JIER
2 AFLHIKf TWRK264E12 4 19 H #d T AFLBfREE  BMHBE HP i
3 A& IINHR SRR T BN A B R B L A AR S R

T EMkE
(1 Bt ) 2,064,196 H
S G H1 R At A o
(T4 EBILX)
¥ E 4 51 [\ AKL o E AKL R
WA I VR 1,998,665 M RIE
B A2 ] S 2,018,324 H

KA 2,158,558 M (JHEBLIAA)




CNALTRE SRA7 44 11 B )

TS5 B — i AL

1 AFLERE ¥ #7185 = ANFLBATHE BEETEIETE fEn JIER
2 AFLHIKf TRK264E12 4 19 H #d T AFLBfREE  BMHE HP Ei

g pE 4 CEOBURE K TR RS R

T EMkE
(T BLE) 1,298,000 4
S G H1 R At A o
(BBt )
¥ E 4 51 [\ AKL o E AKL R
(R B I 5 T 1,200,000 M
= L2 N R ST 1,100,000 M RIE
R R O 1 T 1,200,000 M

KA 1,188,000 F (FHEBLIAA)




CNALTRE SRA7 44 11 B )

TS5 B — s AL

1 AFLERE ¥ 771867 = ANFLBATHE BEETEIETE fEn JIER
2 AFLHIKf TRK264E12 4 19 H #d T AFLBfREE  BMHE HP Ei

5o 4 FAEEEBTHE R AR BB I R e

il
(T BLE) 1,640,000 4
SR R -
(1 2oL )
£ # 4 AR 2K # R

(PN B/ S GiR(ehe N2 ) 2,500,000 H

7 Y~ EEE KT 2,220,000 H

) H BT AT YL MR BT 1,200,000 HIE

KA 1,296,000 F ({HEBLIAA)




AL SR 4 3 )
TR A S Bt g A AL
ALBETH  EEITEITR 20 IR

1 AFLE = ¥ F18THE &
2 AFLHK TWRK264E12 4 19 H $d T AFLBfREE  BMHE HP Ei

3 4 JRSOREEERT IR S B R (B T2

i
(B B ) HE

S ARl FRAM
(TH &Pk E)

x & 4 75 1 AAL F20a AL wR

(THEBLAR)




CNALTRE SRA7 44 11 B )

TS5 B — i AL

1 AFLERE ¥ 77188% = ANFLBATHE BEETEIETE fEn JIER
2 AFLHIKf TWRK264E12 4 19 H T AFLBfREE  BMHE HP i

3 4 HHB 1 5y A I N Bk # A T 5

E I 5 1IRUAAL 5 2[5 AL fi 2R
fite] FH 7% i L 2E R 1,870,000 H 1,770,000 M HIE
BIRZARR— L —E X 1,920,000 M 1,780,000 M
(R HKE T 1,950,000 H 1,775,000 M

KA 1,911,600 F ({HEBLIAHA)




ML B4 BB
TR SR B AL

1 AFLERE ¥ #7189 = ANFLBATHE BEETEIETE fEn JIER
2 AFLHIKf TRK264E12 4 19 H #d T AFLBfREE  BMHE HP Ei
3 k4 P R T K X PN B K 2R AS H T

E I 5 1IRUAAL 5 2[5 AL fi 2R
fite] FH 7% i L 2E R 5,550,000 H 5,280,000 M
BIRZARR— L —E X 5,480,000 H 5,250,000 M
(R HKE T 5,300,000 H 4,900,000 H HRIE

KA 5,292,000 FH (HEBLIAH)




CNALTRE SRA7 44 11 B )

TS5 B — i AL

1 AKLEE W #1907 = ALEITHE  HEEETETE 0 AME
2 AFLHKE R%264E12 H 19 H #4T AFLBAfREEE  FHMEE M Ei
3 4 157KA116~4126F#3 T. 5
T E AT
(T BLE) 7,034,000
o ABG I PR b
CEE g )
¥ F 4 ERIEPNR #2m AFL R
(R0 TR 7,150,000 H
() e T T 7,200,000 H
T2 N R 7,000,000 H RIE
Sk o] 7,560,000 F (JHEBLAA)




AL SR 4 3 )
TR A S Bt g A AL
ALBETH  EEITEITR 20 IR

1 AFLE = ¥ A9l &
2 AFLHK TRK264E12 4 19 H #d T AFLBfREE  BMHE HP Ei

MTE2-11 A fhE o B T

3 1 £

T EMkE

(T BLE) 3,021,000

S G H1 R At A o

CEE- gk %)) AW

¥ E 4 51 [\ AKL & 2[a] AAL R

()R A 2,970,000 M HRIE
(T2 PR 3,050,000

3,207,600 M (HEBLAA)




ML B4 BB
TR SR B AL

1 AFLERE ¥OF7192% = ANFLBATHE BEETEIETE fEn JIER
2 AFfLHEKF TRK264E12 4 19 H #d T AFLBfREE  BMHE HP Ei
3 1 & (EH AN B H 73 5-Hr bl T3

E I 5 1E AL GIIEN) R
() P e ¢ 5,050,000 M
N RHAR 4,850,000
TR T 5,120,000 M
T PR R 4,940,000 M
(A B0 T3 4,830,000 M RTE

KA 5,216,400 F (JHEBLIAH)




